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1. Al tHangles are almilns
(A Isoscelos

(C) Obluse angled

(B) Equilmtaral
(2} RAight angled

2. In201617, Haryana GSDP (g growing at
{A) 6.7 percem
(B) 7.8 percont
(C)
(D)

8.7 parcont
10 parcant

GST does not include all tha excise
dutvqu‘-mrwﬂg goods. Findeut the
non-GST uommodities oul ol the following
particulars -

. High speed diesal
. Awviation Turbine Fuel (ATF)
Petroleum crude
-v. Motor spint or petrol
v. Natural gas

Choose the right answer given balow

(A) i, il and i
(B) i, iiiand v
(C) |, i, iii and iv

D) All the above

4. Theequationsax +9y=1and9y-x-1=0
represent the same line ifa =
(A) 1 (B) -1
(C) 9 ‘D) Mone of these
5. Consider hafollomiog®
1. Sambiarla alt lake.
2. Chilka la:= i zsh water lake,

3. Vembanad lake is a back water lake.

Which of the above is /are correct 7
(A) 1and2

)} 1and3
(C) All the above

(D) 3only
N

Y 0 P N
Pt s w8

" wray

(D) TR

2016-17 9, wfarm i cspp
g W T B .
(A) 6.7 ufiram
(B) 7.6 witrms

AT 8.7 Ul
(D) 10 9ierema

afterd) ¥ 2t starerrd) yresRaTeh e o
7l ¥ Frerfeafers famm @ h—shoed a-
A e ifom)
i 3w nfa #m
i, TEEAS FEE 25 (ATF)
a1 gaiferam
v, TR fenfre m vEra
v, Wi e
12 famm e wed 3w gho
(A) 1, 1 3T
(B) i, il 3T v
(C) i, 1i, il 37T iv
B3 wfl

4, Tt ax+9y=13N Gy—x—1=07
Mﬁmﬁ%-ﬂﬁﬂz
(A) 1 uBf -1
(C) 9 (D) T8 & =g

5. Freferfias o fmmat .
1. &L e wraviiE =ie |
2. Taen e o2 ot i1 =i 21
3. HeATE e U 99 3| 2

) -
(A mr"rﬁmrrq
(C) sl

i,

TR O H ®A-HHE 7
(A) 13T 2
1313
(C) Ia Al
(D) wad 3




AT T 0000 0
6.

10.

.(B) Warren Hastings

If m cot A = n, then the value of
msinA —ncos A s

ncos A + msinA

¥ a m- —n
(A 12 B) =
) e
C) = Al
(C) e (0) m+—s

Haryana is situated between

(A) 27° 37 to 30° 35" North latitude
(B) 37° 37" to 30° 35' North latitude
(C) 47° 37" to 30° 35° North latitude
(D) 57° 37" to 30" 35' North latitude

Who among the following British Histonan
divided Indian history into three parts, i.e.,
Hindu, Muslim and British 7

(A) James Mill

(C) Sir Thomas Smith
(D) Annie Besanl

A man invited some boys and girls on the
birthday of his son. The number of boys was
2 |ess than the number of girls. He gave
Rs. 10 to each boy and Rs. 20 to each girl.
If the total amount distributed by him was
As. 280, the number of boys was

(A) 25 (B) 10
‘C} 8 L 15
Two coins a2 tossed simufaneously. The
probability o' qetting e ¢ two head is

(A) 1 (B) yE
© )4 @ 4

Three cubes each of side 5 em are joined
end to end. The surface area of the resulting
solid is

(A) 15cm? (B) 175 cm?

4/2018 (1) My,
A=n, G Mﬂs'ﬁt

6. ﬂﬁmml ﬂ*—ﬂ"lﬁlﬂﬂ.
e ncos

2 m' -n’

W o R

"}

2n’ A

U‘L(; $‘+ O M
7. wfEm ¥ oft= feam 1

7 27037 @ 30° 35 I AL
~8) 37° 37 ¥ 30° 35 IAA AT
(C) 47°37" & 30° 35' Il AW
(D) 57°37" & a0° 35 IeFl AL

8. fufro ehmemet # @ e i 3iaers 3
ot v e fike |, wieem ofi fafemn @ ECIE
faran 7

L T o
(B) ate efeds

(Cy = gwa fam
(D) ' =

9. UF HfF 3 TH & THAGAE W HS T
3 wefFal = Fmfie & R) sl
HE TEHA ° 2 FH 81 I Weldw o
F1 %, 10 3 U Tl W 6. 20
af2 3w T Aid M8 & Ui . 280 B,
g ) HE
(A) 25
s

10. = e =1 v ma I@Ten T R | 26
AT =) =7 Wi & 7

1 ®) )
Vs W Va

11, 5 &t S T T F S0ER A

2 | wfomft 3 1 Eawe
(A) 15 cm? (B) 175 cm?

LS 350 cm? (D) T | g

(8) 10
(D) 15

(A)

(C) 350 cm? (D) none of these
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12. R
! abi g
OPE ara S0wn Al the ang of
0

t'ﬂ".:' Gﬂtﬂbﬂ-r
(B) November
(D) January
13. The 2018 N
ohel Py
Medicine i L‘-!}nTErrEJ;EI?} In F’h!-’slﬂlcag‘.-" ar
(A) Michael w Young
(B) Tasuky Honjo
(C) Michael Rosbash
() Jeffrey C. Hall
14. If p? - 7
mrl;aindﬁﬂ t ¢ 15 divided by p - 1. the
er will be
(A) Positive (B) Zero
(C) Negative (D) None of these
1'5_ 7 - -
T:'ui most important distinguished faature
of the Federal form of government is
(A) Having Supreme Court in each
State
(B) Having two citizenship, one at the
Central Gowvt. and another at the State
Gowvt.
(C) Distribution of executive powers
equally between Centre and States
(D) State govemnments vested with the power
of seceding from the union or faderal
16. If'a’'means‘'+, ‘b’ me=n="-' ¢'means '+'and
Fd' means 'x‘ ﬂ"l ~ G5 ‘tﬂﬂ EI15=
() 55 @ 4
(C) 44 (D)

5 years ago, fathei & age was 5 times as
old as his son and after 3 years, he will be
3 times as old as his son. Find the present
age of son.

(A] 10 years
(B) 13 years
(C) 12 years

1

(D) Mone of these

00 000 0

2. T W e

;?13- EFwmdw
Hefgat (B) Faam
(C) feoam (D) rahy
13 ﬁﬁﬁmmzﬁmﬁ#éﬂmzmamm
TEPR & ™ |
(A) HTTFA Zaeg . o1
(C) Toara e

(D) =0k =t 7A

14. 7 p* - 6p + 79 p— 1 & Favnfm frm =

8, 1 91 &
LA T (B) I
(C) U (D) 98 FE 37

AN & THE e #1 "@aiius M= 3
TEed Y] g &

(A) Sl U H HEres ST
(B) =1 AMEAG 841, U Fg @FN 30

15.

LT 7= BTN
wmnﬁﬁaaﬁamwﬁﬁ
1 BUTH DG
(D) mmﬁmmmmﬁ
T B ) aifaa R
16. If%'a' &1 314 4+, bat 39d o e e
AT dF 54 % T 25c5dBb10al15=
(A) 55 (B) 40
(C) 44 JUBT 45
17. 5 9 9 e it 5 @ it ;g # 5

o, 3 74 wvamE fim <t g @ Ay .
37 &1 O3 o) SoHE {1 e 7

‘:ﬁ"iﬁﬂl‘f

(C) 1274
(D) ¥TH H =TS TE



T A0 0

18.

20.

21.

23,

1215 a zara of polynaminl plx) = 467+ 25 =50,
then value of a is

tA) 5 (@)

(C) 54 D) =4

The Haryana Municipality (Amendment) Bl
wias passed during the yaar

(A) 2014 {B) 2015
(C) 2018 D) 2017
Cansider the following statements

1. He was sentenced to 50 years of
imprisonmeant and many years in
Andaman, '

2. Hewas studied in England and carried
out revolulionary activities there
itsell with Lala Hardayal, Madan Lal
Dhingra, Madam Cama elc.

J. He set up an organisation called
Abhinav Bharat soclety.

The personality referred hare is
{A) Rash Biharl Bose
(B) V.D. Savarkar
(C) Lala Lajpath Roy '
(D) Ram Prasad Blsmil '
Find the term which is different frarm the other
three among the lour options given belaw
(A) Ink (B) Paper
{C) Pancll () Coaol
Bhuteshwar ter f& situated in the
district of
{A] Bhiwar 8y ind
(C) Jajjar (N Panipal
Bugyals, a un (I agetation found
in Himalayas is ..
(A} Summer grasslands in the Himachal
region
EE} Summer grasslands in the Sikkim
Himalayas
(C) Summer grasslands in the” Arunachal
Himalayas
(D) Summer grasslands in the Eastern

mountains

18

14,

20.

21.

22.

5
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nfa 2 ‘ﬁ]'l:"T-ﬁ'E p(x) = dAx® 4+ 2% = 5a ] TH T

M awmaa®
(A} B Hﬂﬁ/:

(C) &4 (D) -4

wirmmramfam (mma ) e
4 % 2y wfta Feay

(A) 2014 (B) 2015
(C) 2018 2017

fr=fafes sai w faam =1
1. T4 50 701 #1 &=z ) g @
STEUT o e I |
2. TR et o ward ) oft wen wEaT,
geTora i, g wew ANt o mu
wrtrrty i Rt oy
3. TeE TS A aarn e s
el efhfr == B
(A} 7T Sl |
BT H181. wETe
(G}, ST Fada
(0 T uam e

2 o o s et & 9w o v i

afirm 7

(A) = (B) wrTH

(C) dftr ;‘U'F; T
srar s fordt & fium B
(A faarh o) offn

(C) s AD) wrfa

e, feorera 8 orft wr areh 0w s
PEME A Cn

\af Temrera i & v vt % B
(8) Tafesm fearam o oo e & feom
(C) stwomaa frrem § e e & e

(0) 7 amfEa & e oa A
W
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24,

25,

27.

ThEEmuhr_-.
|'I!-T.r;.r;-..

=Y&lem of &
X 4 |-.|.r.- -34+b- 2 U tinns
are "qar‘dbx—a-,-—a--tl—ﬂ
{AJ :l':—.l'j.l._"_'..!ll.=ll_|_

Y

I'E'.i = _a._tl ¥ = i b
[C) %=1 W= —1

(D) x=0y=0

Select the corract gian
tollowing :
(A)

2ment from tha

H .

elerotrophs survival depends directly
or '-"-l.'.!llrl.-.'-:fl'g,.' an autotrophs
Carbohydrates are stored n tha form
ot glycogen in plants,
The Process of acquiring ox ygen from
outside and use it in breaking down
-:n! tood source for cellular needs is
pholosynthesis
The complex substances are broken
COWN Inio simpler ones for the growth
of the body using biocatalysis called
lipids

(B)

(C)

(D)

Which of the fr.»ll-:,u,n.--ng i5 incorract

(A) 1935 Government of India Act
provided for establishing Provincia
Public Service Commission

1908 Govermnment of India Act provided
for separate electorate to Mushims

1919 Government of India Act iniroduced
for the fire* “me hicameralism and
direct S0 (e country

1947 se-ence \ndia Act provided
fort “one' rde iocommonwealth
groL stions (O Tormwealth)

(B)

(C)

D)

InHaryana, { =d .ich gels the lowest

rainfall is
(A) Fandabad (B) Rohtak
(C) Sirsa (D) Hisar

Find the missing term (7) from the oplions
for MQ, 7, AE, HL, 05, VZ.

“) TX
(C). TZ

(B) SX
oy TY

24,

25,

26.

27.

00 O PO
Wi gy 4 by —a+b=03 bx

8 —b =0 el & 2m s
[A] X=8+b,y=a-b
(B) x= ~a4b,y=—-g-b
E=1,y=—1
D) x=0,y=0
Frefefiam o ot wum gfm
T e e E T
Ftaa T & o Fnde e 8

(B) wrEterEde Nl 4 S F s A

(C) =T8T & ATt @4 W wifvEE
AEFYTFTIAT & fEm W= == F
uefen = g i 1 9T gE
HIHm # |

(D) = = o = 3 & fore e gl
N fofrz T SEEehE & gEE 8
arE F B

Fefeifas o & sh-m s 7

(A) 19359 WA W= A T =
gt s =1 ST | ety

(B) 1908 F1 vnm wET sty giesm
= o qus A =1 wEaE e R

{C) 1919 % g =N sfFm 3 &g
W 9 TEEEE 3 wme e )
AR

{ 847 WA =1 A dJufay
Thﬁ%m@ﬁwﬁwﬁﬁ

e § 7 e TR we T e me B R
(A) FiEER (B} Teas
ey famm (D) TEEm

28. MQ, ?, AE, HL, OS, VZ & T« 9% (7) 714

|
AT TX

(G) TZ

(B) SX
0y TY
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29.  The ancient epic of Haryana |5 29. el & 9redta aemre R
(A) Rigveda (B) Bhagavad Gila (A) TR wirrer Tiien
(C) Yajurveda (DY Osho () u:ﬁa (D) s
0. Yiho amang the following announced the | 30, Frrafiferm A fie 194 1 farva ) firg
vely ol naw civilisation in the Indus 7T e - i 7
valley to the world in 1924 7 Rl :'i ; 1w A il
(A) Daya Ram Sahani ' (A) 4TI HTEAI
(B) Sir John Marshall p uﬂfmiﬂ'.-lqrﬂﬂ
(C) Alexander Cunningham (C) TeiETET HEEY
(D) R. E. M. Wheelar () M. T T
1. Which of the follawing farm an AP 7 3. F=feieas 0 9 99 - v o Sl =
(A) 1,1,2,2.8.3 .. B9
(B) 0.3,0.33, 0333, .. A 1,4,2.2.3 8
1 1 19 (8) 0.3, 0.33, 0.333,
G:| rapl Y Yo AT T 1 1
© 238 ©) 3703
(L) ~.I'r3. J12, J27. J4g. ... k._iD“IF ¥3. 12, J27 JaB...
32. Match the following with their pairs. 32.  FEiEtEa w3 g f e
|. Biosphere 1. Blﬂnlr.et:rmr which  FqmEny 1 qefta s EcEn
surmounds the earh ST A T
Il. Atmosphere- 2. Domain of waler T " =1-'|l M
. Hydmsphere‘rﬂ Gravitational lorce of o 33"1.1 it b p B
the earth ! seis |\ 3 TE  THEIE WS
IV. Environment=4. Our surroundinns IV, SEE — 4, BHTL ST S0
~5. Narrow zone where \S, HERTI AT, W] 0, @
land, water and air st A sl
‘nteracl car R
a, h 1Trpn between the | £ At i Tl =T s
argesVisms and their | ¥ e T
urroundings '
: I %2 9fm
Select the « . 2
(A} 1-2 3 IN-8 (A) 1-2 =5 WM-3 V-8
B) 1-5 ll-6 -1 V-4 B) 1-5 -6 W=1 V=4
(C) 1-1 -4 Illl=2 V-3 (C}) 1=1 =4 Illi=2 V=3
Dy 1-5 -1 M-=2 |V-4 Ly‘iwﬁ- -1 WM-=-2 V-4
33. The Haryana budget for 2017-18 was | 33. 2017-18 et efarmm e _
tabled by &0 9% W i Ty :
(A) Finance Minister (B) Chiel Minister \W/‘ ﬁ'ﬂ“ﬂ (8) ¥ ‘?’;”
(C) Prime Minister (D) Home Minister (C) WerrnE) (D) TEH

= B

W
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34.

<5,

J6.

a7.

38.

38.

40.

41.

Function of HUSlatony recg
(A) Detact smel :
(B)
(C)
(D)

Plors kg o

Detect soy nd
Detect taste
DEI'E"I:1 di SR

Find the missin
4,8, 16, 25,

(A} 47
(C) 72

8 humber in the

36, 7 Sequancs

(B) 48

(D} Nona gl thase

Prithviraj Raso was written by
(A) Sursagara (B) Chand Bardai
{C) Panipath (D) Geethagovinda

What are the values ol y it the distance
between the points (2. yland {~-4,3)is 107

(A) 11and-—5 (BY 2and3

(C) Oand 1 (D) MNone of these
Kavi Maldev was a _ poet
of Haryana.

(A) Sanskrit (B) English

(C) Urdu (D) Hindi

The capital city of Haryana Is

(A) Ambala (B) Chandigarh
(C) Rohtak f0) Kamal

A certain bdr 5@ Yimes the sum of the
digits. If 1€ is@dded d.lte number, the digits
get interchanged The number is

(A) 42 ) 24

(C) 36 (D) Mone of these

The non-metal which is liquid in nature 1s
(A) lodine
(C) Mercury

(B} Bromine
" (D) Chlorine

A O
M. smmfesimsd 0 &
(A) TEE TR U] =T
(B) =1 = 9 =
ST =T = A =
(D) T =1 9 A
a6. 4,9, 18, 25, 38, ? W?Hfrﬂ;':\ T A
(A} 47 BT 49
{C) 72 (D) 770 | =18 AF
36. e T T T )
(&) FETH LBy e
(C) T oy e
37, TRl (2, yyai (-4, 3y A= 0 10 R,
Tl y o1 A 7
LWAHI;—'.'IT—': (B) 233
(C) 038 1 (D) FH H =T T
38, @i dTered BT & g 91
(A) TERA (B) ==
() 3% per fe
39, efrgmn A T R
(A) ST HENE
(C) TEa® (D) AT
40, T UEA T4 3T & 40 1 4 7O R Al
30 e 1 18 FE T ¢ 9 3T = T
e 1 = S 2| A e #
(A) 42 \JBY 24
(C) 36 (D) %™ # IS el

41, % 39T S EE R
(A) SAETER dﬁ*ﬁrﬁ"
(©) & (D)

r




AR o

42,

43.

45,

48.

47,

49.

4/2018 (1) (M10)
1 =71 ) Forwand o, 13 ) sfg WA

The radii of two circles are 13 cm and 42.
6'cm respectively. The radius of the circle T8 g ) Fwen Freeh) gftf g1 26 91 1
Which has cireumlerence equal 1o sum of P L
the circumference of the two circles s fefv & A & s gl
(&) 19om (B) 18em Mﬁ em (B) 18cm
(C) 165cm (D320 om (C) 16em (D 20ecm
The Shivalik hill is in the district of 43, T wefe  fore 1 e B
(A) Sahibi (B) Ambala (A) wrfefa T s
|:|::| Aruna [D} Gaggﬁr [C:I 5T l:D:| T
An image formed by a plane mirror is | 44, TS HORS 20§ 95 I whataE T
always il ___#mmy
(A} llusionary image (A) s wlafee
{BY Virtual image BT et el
(Gy-Real image (C) arefa Wit
(D) Rellection image (D) YATEH] WAt
If August 27" was Monday , then 14" gf that | 46. Tf 27 1 |aT w1, 7 36 " A
month was an 14 THE 1 whiq -1 &4 o1 7
(A) Monday 487 Tuesday (A) T B WA
(C) Wednesday (D) Friday (C) AW (D) e
The state bird of Haryana is 46.  TIET FT T el 8
%) Peacock (B) Parrot (A) | (B) #@l
(C) Pigeon (D) Biack Francolin {C) T Dy s e
The governor of Haryana is appointed by | 47. BfEmm & e ) Fafe
: 10 &t 2
{A) Prime Minister (B) President (A) THTE
(C) Chief Mini iD). Meople (C) e (D) =
Goddess Bhevwar Aidba temole is in 48. =t ETH 3= T 0l 7RI
(A) Rohtak District () anipur District (A) TIEAs T (B) g fren
(C) Ambala Disi;it Gurgaon Disrict A stemen T (D) Teta fe
Star monument is the Samadhi of 49. THAO W _ =1 wmia 8
\[AT Tarachandji Maharaj uﬁ{ AT TR
(B) Narayana Swami (B) ST H=ETHi
(C) Shivaj (€) faramsit
(D) Govindh Singh (D) mitfes fom
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50.

81,

92

53.

54.

55.

58.

w

(A~ i Ny arox 0=
_,l:_EE} it ox
::. L@j}l adium s 3
(D) S¢

{#) Bahudnanyaka () Adiroopa

Haryana i called ag the

(A) Land of tarmples

(B} Land et flowars
'_j,Df" Breadbasket of india

(D) Pious state

YWhich type of soll having highesi water
heolding capacity 7
Sandy sal|
{81 Clay snail
(C) Loamy soil
(D} Mixture of sand and loam

Bhagavad Gita was said 1o have been
complled by

_:iﬁf' Shankaracharya (B) Madvacharya
[C) Veda Vyasa (D) Vallabhacharya

What is the nature of the image farmed due
1o concave mirror when object is placed
beyond centre of curvature 7

(A} Real and inverted
B Virtual and eract
(C) Real and erect

(D) Virual and inverted

During heavy exercise, we gel cramps in
the legs dus to the accumulation ol
(A] Carbon dioxide

iB) Lactic acid

(C) Alcohal

(D] Water

Sodium hydrogencarbenate on healing
produce

The land cultivated by Kurus was called as

G R

g wmmam R
Ay T i
(8) i 1 wfn

T iR ) ¢ ) 2
(D) o Ty

form waeme = g < 59 g W R aEe
At T # 7
(A T
Fati o
(C) e
() 1A = = = faem

50.

51.

52, ITEA A HEe 7 =
T, ST A B
LAY SRR

(C) 93T

(ey maAEE
(D) Toovrd

T G 1 FE 5 o O T A R
e 2t e R R
8 7
() s 29w
(C) dreta Sf &
(D) ST s Iea
vl we i Ao, WA
& = & S B R
(A) FTEA EEHATFES
W e
(C) Hw=hTEe
(D) =l
'ﬁ‘ﬁm : mﬁﬁﬁﬁqﬂi a“ita'lﬁﬂﬂ.‘?q'{ e
Teg A £ 1
(a) wifzgm TEgFAES
(B) wifzaw AiTaTEE

53.

54.

55.

(C} Prajotpathi (D) Angeerasa

-10-
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57. An instrument for measuring the speed of | 57, arg =1 i |1 o1 45 8
wind is s A
'ﬂ"?_'.ﬁﬁﬂ. T By IE et
(A} Odometer (B) Speedometer ol () -
(C) Anemometer (D) Barometer Lﬁfﬂ‘-ﬁﬁ'l‘ﬂﬂ (D) =
58. After Gupta dynasty, in the middie of | 58, T =% & =g, a1 &1 w79 F A=
Sixth Century AD, established B e ¥ A T
supremacy over Punjab,
iA) Pallavas By Gujarat (A) Teed (B) =
({C) Kadambas (O} Huns (C) wE Jj,l?q Ll
59. Find the number which is not like the other | 59, == e I =i =1 famedt # a7 = =
3 among the options. TE Rl
<7 1001 (B) 1100 (&) 1001 (B) 1100
{SE 1010 (®) 1110 (C) 1010 _4B) 1110
60. Haryana is the first state to launch 60. EfEm % A TEC
(A) Satellite =4 5|
: (&) FUOR
¥ (BT Mahila Police Volunteer BT e yferm =
i) Kissan Budget Sy foram e
{D) Aryabhat (D) vz
61. Consider the following with referencetothe | 61, “HYY T=1" %2 # = 7 Trafefes o
term “Soveraign State”. fram st
{A) A country can be a soveraeign with or (&) uF 2l s T wE S e m
without dominion of any other nation =k T g'gﬂ HEFal
(B) Sovereignty is compromised while (B) R ¥ HewAl We i T
gettine “hip in the UND & Ty wuEEl = A e
(C) Bot' e (C) =i =R
'.-"{m Mo Wﬂqﬁ
62. Solutions of the eguation 62. +/5x% —Bx+3J/5=0FiFMF & R
2 - _
J§x£331,_4_uara uﬁfﬁ% ® 53
5 — b
(A) 5 j,B.J . - A
o 5 .
(C) +/5.3J5 (D) 4,2 © 5,
SR TSR E U p | ERk o EUE |
63. Prabhakara Vardhana, the first king of 63. ﬁﬁﬂ;m
Vardhana dynasty was the ruler of ELRLILED 4
y AT U (B) FH4A
/(A) /Thanesar (B) Kurukshetra b 0) T
(C) Geeta Vardhana (D) Patna (c) T [
11- w
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64. Which of the Ialig
The State shs
i 2 sha|| discriminale =as
Y Silizen on groundge T

-]

ofily af re
caste, sex, place St Gy of religion, race,

Wi
L I "l'-”"l:h.' Provicas

net that

nh or any of tham 2

(A] 13 (8)

14
[C] 15 'PD'I 16

65. Governoracisas the nominal head
power of adminisiration of fhe Sial
(A) Prime Minister {B)
(C) Chief Minister (8]

and the raal
e IS with
Prasident
People

B6. |l 'ONE' can be coded as
can be coded as

(A) 50 By 48
(Y 58 D) &8

34" then 'TWo"

67. Acurentof 0.5 A is drawn by a filament
of an elactric bulb for 20 minues, find the

amaunt of electric charge that flows through
the circuit.

(A) 300 Coulomib
(B) 600 Coulomb
(C) 2400 Coulomb
(9;. 20 Coulomb

68. Rsadthefollowing statemants with reference
io features of Kashmir Himalayas.
I. Theyame famous for Karewa fommations,

ii. Karewas are the thick deposils
of glacial clay and other materials
ol fth morzines,
jii. ar~ yssiu! for the cultivation of
iran
iv. Srinzaar, tne capital city of the state
f Jammiu .ashmir is located on
the ank nelum River,
Select the answer code
(A) i, iiand il

(B) i, iiand iv
(@) all the above

o i and iv only

w

A0 A e
64. TofefEma g e H-F.d';,,a T =
# ik o i, mm, fém, anf, et 3 e
At e T = B R s e

Ay 13 2y 14

QAT 15 D) 18
85, Jf'mﬂﬂmﬁﬁmﬁ;mﬁmm%-m;
T WTTHA ) are i e 3wt 1 e

(A) waTE By T

Wiogicus (D)

66. uf2 'ONE' % F2 34' B @ ‘TWO' &1 52
Erm
{A) 50 (B) 48

‘._E’[;V-Sﬁ D) E8

T =1 20 T & o
jia T;E?A;hq?mﬂm—rﬁ B i o 7
e faege =1 £ 5 @ F)
(A) ‘300 T
A5 00 ==
(C) 2400 FeT
ID) 20 %=
g8. TeArafiaa Huei =1 wynn femmerai 1
et & e wigm, |
i, A e e fere wfe Ry
i, e i e T &y a
A TS W TR |
i, AFmEAIEE oIt
iy, e, s af e ) T e
) o T o e B )
I FE T ;
(A) i, it 3T i
(B) i, ili # v
oy Bl

(D) iii 3 iv =

=12=
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Fill in the blanks with proper conjunclions. 74. v,ﬂf‘ Commitles e T
(B} Commite = 3
69, Wometalotolpeople _ wewereon (C) ‘Comitiae e
holiday (D Commitec
l}ﬁf’whlla {B) after s
Il in 1he ¥ ith riale pr itons.
(€ during (B} before Eill In the blanks with appropriale prapos
75. lamgoingaway the end of
70. it rainad a lot, we enpoyed our January.
holiday
- L}[,A‘I in (8 on
A) E
van though () at (D) 1o
(B) In spite of
m{p}’ Althaugh 76. | will be at homa _____ Friday moming.
(D) Though You can lelephone me nen.
(A) in
+]
Choose the comec! form of tha verbs. () Ly
{C) at
71. What was wrong withyou ?Why g0 .‘_}Ef on
o hospital 7
LEM DL Y Choose the correct meaning of the undedined idiom
(B) should you '
ram 1he given options.
(C) hadyou to
a8 did you have to 77. Haeis now a gentleman ai large living as
best as he
72. Sha_ from flu when she.was ) Sk )
interviewad. (A} A parsonwithoutany sefcus occupation
(A) Had sufiered BT Ordinary and undistinguished
{B) Suffered (C) Dominating
(C) Is* g (D) Alliberty
m I an saffering
78. A sensible man, as a rule, cares much for
Pick out the nigh'y = public opinion.
(&) In reality
73. (A) Ocurred MUsuaIly
B ur
A (C} Whatever may be the cost
{Sy Occured
(D} Whatever may happen

Occurred
g 3

=1 3=

pLe vonid
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AR A 0 O O e
79. BTt vz el B“L""El
YT s T 87. ufiwwe e B wf ¥ 1w A | e
(©) Frdt (B) =4 w2 e #ifir
80. THIS 1 W = Teinbre: g o 4 L e
(A) =ehife ®) fim (g =afEmETs @91, v, wfifEm,
(C} 3=t vy ’ﬁ} Gt Ueher==
(C) WTEETE T, T, wiEm,
81, H + 3 = =g s wid 2 A
(A) 1 wfg (8) Tfa =ify (D) @A, Fatwm, wifem, wwaes
] #HfY (D E:A D :
S g 8. el e e S @ ek vl w0 B,
B2. 7\ ) oy v @ TAH T B f 7
e (B) T (A)
(C) =i (D) g (B) I
83, Fr=fefas 4 8 s & worar w0 & 0) TFfE
(A) T (B) =&
(C) ¥4 i e 2a g, Freffas & & wf =6 w1 =97 R -
ﬂ oy - (A) aniTegeR]
84, T IIE F My FIE I9F1 S w7 @) i
(a) ¥ == (c) sfrafa
() ¥ 487" WA (st
A
P S i A
gs. wa??ﬂ?ﬁ?am HETE = A S g0, mifer e
(A) Z=EA :q =
B) 37w sifead BT
&) S 1, T — #) 5B
Lf‘er-m?—; e i
(D) ¥ A il 2. HFHEA sl [
- I 3 3. W - §) 39
g6. T TE ol ¥ @Y H AHIAA H 4 Faefm- O §) a2
ferfa, (A) 1-3 2-% 3-3 4-F
M T S @ 1-% 2-3; 3-3; 4-3
(B) HTE-,"H?;‘ﬁFLF?""ITlﬁl (C)y 1—# 2-31 3-_5 4-3
(C) gy 7 Sl A= 2-W 3R 453
(D) =TT = A
-14-




